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1. (30 %) 1B Markov process &) stochastic matrix A 4= F » B A4 a9 A& & X=[20 70 101"

06 0.1 02
A=102 09 0.2
02 0 06

(a) K A% eigenvalue A& H ¥ & 49 eigenvector ° (18 )
(b) #HHEAL X - (7 %)
€ A”-X=[abc]"» (abc)iR kit 58 » R B(2,2:.75) » (21,22,25)=? S @)

2_3 4 ~
2.25 %) y'=x3 3y Hef@i@% A (x,y)=(0L1)  FEET A :
xy

(a) 3% A A% &(Euler's method) » #£25 A 45 » FIE(step)h %8 0.1 > x,=1x,, =x,+h
Yia =Y +h*y'(x, ) 0 FRE (s y5 1) =7 O @)

b) ZAFTRAEFHIBEFTRALE  FRAEBFBET -

6 %)
(c) 3%’5‘{’:%; y2)=y,="? (10 49
3.(15 %) R ALBMNF KL > 8l y(@), & Laplace #3% : Y(s)z—zl———[e"s-e"“] J
s-(s"+35+2)

B4 »(0)=0,y'(0)=0 » FREH © [»(0.5), y(1.5),y(2.5)]="?
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4 30 %fvn\ﬂif&L-y"+R-y'+é-y:r<z> FLRCHKH o r() AT

(@) & r(t)=E, cos(ot) > LT RRZ KRy (1) =a-cos(wr)+ f-sin(wr)

%:(mz;—;%) SR Ey 0,5, R, KR (@, f) = (10 %)
(b) Hr()=0,y(0)=5,y'0)=1 " (L,R,C)=(0.1,11,0.01) » 3F#H y(r) ° (10 &)

(@_%TU)=U06m02mn+%%ym)=0:y(® » (L,R,C)=(0.1,11,0.01)
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